## Edexcel

## A Level

## **A Level Maths**

Edexcel Core Maths C4 June 2013 Model Solutions

Name:



Mathsmadeeasy.co.uk

**Total Marks:** 

	visit iittp.//www.mathsmadeea	isy.co.uk/	ore faritastic resource	J.
		Edexcol	June 2013	C4-
la	J	? Parts	u : x² u': 2x	v': e <sup>x</sup>
	= x2ex - \ 2xex	dα	(*)	
. ~	Jaxex dx	Parts	u: 2x u': 2	V'; e <sup>x</sup>
	= 2xex - \ 2ex dx			
	: 2xex - 2ex + c  'Sub vite (x)'			
	J x²e* dx : x²e* - (2xe* - 2e*) + c			
	* x²ex + 2ex - 2xex + xc :			
16.	$\left[x^{2}e^{x}+2e^{x}-2xe^{x}\right]$			
	: (e+2e-2e)-(0+2-0) : e-2			
	I .			
2a.	$\sqrt{\frac{(1+x)}{(1-x)}} = (1+x)^{1/2} \left(1-x\right)^{-1/2}$ $(1+x)^{1/2} \approx 1 + \frac{1}{2}x + \left(\frac{1}{2}\right)\left(-\frac{1}{2}\right) x^{2} + \dots$			
	$(1+x)^{1/2} \approx 1 + \frac{1}{2}x + \frac{(\frac{1}{2})(-\frac{1}{2})}{2}x^{2} +$			
	= 1 +	12 x . 18	x +	

$$(1-x)^{-1/2} = 1 + (-\frac{1}{2})(-x) + (-\frac{1}{3})(-\frac{3}{2})(-x)^{2} + \dots$$

$$\vdots \quad 1 + \frac{1}{2}x + \frac{3}{8}x^{2} + \dots$$

$$\vdots \quad (1+x)^{1/2}(1-x)^{-1/2} = (1+\frac{1}{2}x - \frac{1}{6}x^{2})(1+\frac{1}{2}x + \frac{3}{6}x^{2})$$

$$\vdots \quad 1 + \frac{1}{2}x + \frac{3}{6}x^{2} + \frac{1}{2}x + \frac{1}{6}x^{2} - \frac{1}{6}x^{2} \quad (igace x^{3} + acc)$$

$$\vdots \quad 1 + x + \frac{1}{2}x^{2}$$

$$2b. \quad \text{when } x : \frac{1}{ac}$$

$$\frac{1_{1}x}{\sqrt{1-x}} = \frac{3\sqrt{3}}{5}$$

$$\vdots \quad \frac{3\sqrt{3}}{5} \approx 1 + x + \frac{1}{2}x^{2} \quad (when x = \frac{1}{2}x)$$

$$\sqrt{3} \approx \frac{5}{3} \left(1 + \frac{1}{2b} + \frac{1}{2} \cdot (\frac{1}{2b})^{2}\right)$$

$$\approx \frac{5}{3} \times \frac{1605}{1352}$$

$$\approx \frac{7025}{4056}$$

$$3a. \quad when x : \frac{17}{3}, \quad y \cdot 1.156301$$

$$3b. \quad h : \frac{17}{6} \quad \therefore \quad \int \approx \frac{1}{2} \left(\frac{\pi}{6}\right) \left\{ (1+1.616216) + 2(1.035276 + 1.1564701) \right\}$$

$$= 1.77877 \quad (6.46)$$

3c. 
$$V = \pi \int_{0}^{\pi/2} y^{2} dx$$
  $y = \sec(\frac{1}{2}x^{2})$ 

$$= \pi \int_{0}^{\pi/2} \sec^{2}(\frac{1}{2}x^{2}) dx$$

$$= \pi \left[ 2\tan(\frac{1}{2}x^{2}) \right]_{0}^{\pi/2}$$

$$= \pi \left( 2 - 0 \right)$$

$$= 2\pi$$

$$= \pi \left( 2 - 0 \right)$$

$$= 2\pi$$

$$= \frac{dx}{dt} = 2\cos t \qquad \frac{dy}{dt} = 2\sin 2t$$

$$= \frac{dy}{dx} = \frac{2\sin 2t}{2\cos t}$$

$$= \frac{dy}{dx} = \frac{2\sin 2t}{2\cos t}$$

$$= \frac{1}{2\cos t} = \frac{1-2\sin^{2}t}{2\cos t}$$

$$= \frac{1-(1-2\sin^{2}t)}{2\cos t} = \frac{1-2\sin^{2}t}{2\cos t}$$

$$= \frac{1}{2}x^{2} = 2\sin^{2}t$$

Visit <a href="http://www.mathsmadeeasy.co.uk/">http://www.mathsmadeeasy.co.uk/</a> for more fantastic resources.

Visit http://www.....  $\int \frac{1}{x(2\sqrt{x}-1)} \cdot dx$   $\int \frac{1}{u^2(2u-1)} \cdot 2u du$ dx . Zu du ite i u  $\frac{2}{u(2u-1)} du$ 5b. \\ \( \frac{1}{\pi \left(2\(\pi \cdot 1\)} \) \dx Limits x/91  $= \int_{-\infty}^{3} \frac{2}{u(2u-1)} du$  $\frac{2}{u(2u-1)} = \frac{A}{u} + \frac{B}{2u-1}$ 2 = A (2u-1) + B u u:0; 2:-A => A:-2 u: 1/2 ; 2 - B. 1/2 => B . 4  $\int_{1}^{3} -\frac{2}{u} + \frac{4}{2u-1} du$ : [-2lnu + 2ln/2u-1]3 : (-22n3 + 22n5) - (-22n1 + 22n1) (ln1 = 0) = · 2en5 - 2en3 2 2 ( 5/3)

Visit http://www.mathsmadeeasy.co.uk/ for more fantastic resources

$$\frac{d\theta}{dt} = \lambda(120 - 0) \quad 0 \le 100$$
 $\int \frac{d\theta}{(120 - 0)} = \lambda t + c$ 

when  $t = 0$ ,  $0 = 20$ 
 $-\ln |120 - 0| = \lambda t - \ln |100$  (+  $\ln |100 - 1| = \lambda t$ 
 $\ln |100 - \ln |120 - 0| = \lambda t$ 
 $\ln |100 - \ln |120 - 0| = \lambda t$ 
 $\ln |100 - \ln |120 - 0| = \lambda t$ 
 $\ln |120 - 0| = \frac{100}{e^{3t}}$ 
 $\ln |120 - 100| = \frac{100}{e^{3t}}$ 
 $\ln |$ 

7a. 
$$x^2 + \ln xy + y^2 + 27 = 0$$
 (†)  
 $2x + \ln y + \ln x \frac{dy}{dx} + 2y \frac{dy}{dx} + 0 = 0$   
 $\frac{dy}{dx} \left( \ln x + 2y \right) = -(2x + \ln y)$   
 $\frac{dy}{dx} = \frac{-(2x + \ln y)}{\ln x + 2y}$   
 $\frac{dy}{dx} = \infty =$   $\frac{-(2x + \ln y)}{\ln x + 2y} = 0$   
 $\frac{dy}{dx} = \infty =$   $\frac{2y = -\ln x}{2y = -\ln x}$   
 $\frac{2y = -\ln x}{y = -2x}$   
 $\frac{x^2 + \ln x(-2x)}{x^2 + \ln x^2 + 27} = 0$   
 $\frac{x^2 + \ln x(-2x)}{x^2 + \ln x^2 + 27} = 0$   
 $\frac{3x^2}{x^2 + 27} = 0$ 

8a. 
$$\Gamma = \begin{pmatrix} 13 \\ 8 \\ 1 \end{pmatrix} + \lambda \begin{pmatrix} 2 \\ 2 \\ -1 \end{pmatrix}$$
 A  $\begin{pmatrix} 3 \\ -2 \\ 6 \end{pmatrix}$  P  $\begin{pmatrix} -P \\ 0 \\ 2P \end{pmatrix}$ 

$$\overrightarrow{PA} = \begin{pmatrix} 3+\rho \\ -2 \\ 6-2\rho \end{pmatrix} \qquad 50 \qquad (3+\rho)2 \quad -2(2) + (6-2\rho)(-1) = 0$$

$$6+2\rho - 4 - 6 + 2\rho = 0$$

$$4\rho - 4 = 0$$

$$\rho = 1$$

84

: 
$$\begin{pmatrix} z \\ z \\ -6 \end{pmatrix}$$
 and  $\begin{pmatrix} -1 \\ -6 \\ -6 \end{pmatrix}$